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TIME & WORK ASSIGNMENT 

 

1.  ‘A’ can do a piece of work in 6 days and ‘B’ can do it in 12 days.  What 
time will they require to do it working together?  
 ‘A’ – xU Ntiyia 6 ehl;fspy; Kbf;fpwhd;. ‘B’ mNj Ntiyia 12 
 ehl;fspy; Kbf;fpwhd;. me;j Ntiyia A- Ak; B – Ak; Nrh;e;J nra;jhy; 
 vt;tsT ehl;fspy; nra;a KbAk;? 

  a. 3 days        b. 4 days       c. 5 days        d. 2 days  
 

2. A can do 1/3 of a work in 5 days. B can do 2/5 of the work in 10 days. In 
how many days both A and B can do the work? 
Ntiyapd; 1/3 gFjpia A Ie;J ehl;fspYk; 2/5 gFjpia B gj;J 
ehl;fspYk; nra;thh;fs; vdpy; ,UtUk; ,ize;J ,t;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;fs;? 

a. 3
7

4
 days  b. 3

9
8

 days c. 4
8

5
 days d. 10 days 

 
3. A and B together can do a piece of work in 6 days.  A alone can do it in 10 

days, what time ‘B’ require to do it working alone? 
A – Ak; B – Ak; Nrh;e;J xU Ntiyia 6 ehl;fspy; Kbf;fpd;wdh;. A – 
me;j Ntiyiaj; jdpahfr; nra;jhy;> 10 ehl;fspy; Kbf;fyhk;. ‘B” kl;Lk; 
me;j Ntiyiaj; jdpahfr; nra;jhy; vt;tsT ehl;fspy; Kbf;fyhk;? 
a. 12 days      b. 8 days       c. 15 days      d. 14 days  
 

4. A, B and C can do a piece of work in 7 days, 14 days and 28 days 
respectively.  If they work together, the work will be finished in  
A, B kw;Wk; C %tUk; xU Ntiyia KiwNa 7> 14 kw;Wk; 28 ehl;fspy; 
Kbf;fyhk;. mth;fs; Nrh;e;J nra;jhy;> me;j Ntiyia vj;jid ehl;fspy; 
Kbg;gh;? 
a. 2 days          b. 3 days        c. 4 days          d. 5 days   
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5. A, B and C together can finish a work in 4 days. A alone can do it in 12 

days and B can do it in 18 days. Then C alone can do it in 
A, B, C Mfpa %tUk; Nrh;e;J Xu; Ntiyia 4 ehl;fspy; Kbf;fpd;wdh;. 
MNj Ntiyia A kl;Lk; 12 ehl;fspYk;> B kl;Lk; 18 ehl;fspYk; 
Kbg;ghh;fNsahdhy; C kl;Lk; me;j Ntiyia Kbf;f MFk; ehl;fs; 

a. 21 days  b. 16 days  c. 14 days  d. 9 days 
 

6. A and B can do a work in 8 days, B and C in 12 days, C and A in 24 days. 
If A, B and C work together, then the number of days, they will complete 
the work is  
A kw;Wk; B vd;gth;fs; xU Ntiyia 8 ehl;fspYk;> B kw;Wk; C 
vd;gth;fs;> 12 ehl;fspYk;> C kw;Wk; A vd;gth;fs; 24 ehl;fspYk; 
Kbg;ghh;fs; vdpy; mt;Ntiyia %tUk; Nrh;e;j Kbf;fj; Njitg;gLk; 
ehl;fs; 

a. 16 days  b. 8 days  c. 4 days  d. 25 days 
 

7. A and B together can do a piece of work in 10 days. B and C together can 
do it in 12 days, while A and C together can do it in 15 days. C alone can 
complete it in  
xU Ntiyia A kw;Wk; B Nrh;e;J Kbf;f 10 ehl;fSk;> B kw;Wk; C 
Nrh;e;J Kbf;f 12 ehl;fSk;> C kw;Wk; A Nrh;e;J Kbf;f 15 ehl;fSk; 
MfpwJ. C kl;Lk; me;j Ntiyia Kbf;f MFk; ehl;fs; 
a. 38 days  b. 42 days  c. 40 days  d. 45 days 
 

8. If a work is completed in 12 days by 16 men, how long will 32 men take to 
do the same work? 
XU Ntiyia 16 Ml;fs; 12 ehl;fsp;y; nra;J Kbf;f KbAk;. mNj 
Ntiyia> 32 Ml;fs; nra;jhy; vj;jid ehl;fspy; Ntiy KbAk;?  
a. 6 days          b. 24 days       c. 9 days       d. 18 days  
 

9. A job is completed by 10 men in 20 days and by 20 women in 15 days. 
How many days will it take for 5 men and 10 women to finish that work? 

  xU Ntiyia 10 Mz;fs; 20 ehl;fspYk;> 20 ngz;fs; 15 ehl;fspYk; 
  Kbf;fpd;wdh;. mNj Ntiyia> 5 Mz;fs; kw;Wk; 10 ngz;fs; Nrh;e;J 
  Kbf;f vt;tsT ehl;fs; MFk;? 
  a. 17 1/7   b. 18   c. 18 2/7  d. 19 



  

   3 | P a g e           APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

 
10. 3 men or 5 women can do a piece of work in 12 days. How long will 6 men 

and 5 women take to finish the work? 
3 Mz;fs; my;yJ 5 ngz;fs; xU Ntiyia 12 ehl;fspy; nra;J 
Kbf;fpd;wdh;. vdpy; 6 Mz;fs; kw;Wk; 5 ngz;fs; me;j Ntiyia 
vj;jid ehl;fspy; nra;J Kbg;gh;? 
a. 20       b. 10   c. 4      d. 15 
 

11. 12 men or 18 women can do a work in 14 days. How many days will 8 
men and 16 women take to complete that work?        

  12 Mz;fs; my;yJ 18 ngz;fs; xU Ntiyia 14 ehl;fspy; nra;th; 
  vdpy; 8 Mz;fSk; 16 ngz;fSk; Nrh;e;J me;j Ntiyia vj;jid  
  ehl;fspy; Kbg;gh;? 
  a. 10 days   b. 9 days   c. 12 days    d. 11 days 
 
12. 3 men and 4 boys do a piece of work in 8 days, while 4 men and 4 boys 

finish it in 6 days. 2 men and 4 boys will finish it in____days. 
  Xu; Ntiyia 3 Mz;fSk;> 4 rpWth;fSk; 8 ehl;fspy; Kbg;ghh;fs;. MNj 
  Ntiyia 4 Mz;fSk; 4 rpWth;fSk; 6 ehl;fspy; Kbg;ghh;fs; vdpy; 2 
  Mz;fSk; 4 rpWth;fSk; mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs; ? 
  a. 10     b. 24    c. 12    d. 15  

 
13. 13 men can dig a trench in 24 days working 10 hours a day. How many 

hours a day, if 26 men may work for 30 days to dig that trench?  
  13 Ngh;> xU ehisf;F 10 kzp Neuk; Ntiy nra;J> 24 ehl;fspy; xU 
  nghpa gs;sj;ijj; Njhz;Lthh;fs;. mNj msT gs;sj;ij 26 Ngh;  
  Nrh;e;J 30 ehl;fspy; Kbf;f Ntz;Lnkdpy; mth;fs; jpdKk; vt;tsT  
  Neuk; Ntiy  nra;a Ntz;Lk;. 
  a. 6 hours            b. 9 hours            c. 12 hours          d. 4 hours 
 
14. 15 men take 21 days of 8 hours each to do a piece of work. How many 

days of 6 hours each would 21 women take, if 3 women do as much work 
as 2 men? 
15 Ngh;> xU ehisf;F 8 kzp Neuk; Ntiy nra;J> 21 ehl;fspy; xU 
Ntiyiar; nra;J Kbf;fpd;wdh; vdpy; xU ehisf;F 6 kzp Neuk; 
Ntiy nra;J> 21 ngz;fs; vj;jid ehl;fspy; me;j Ntiyia nra;J 
Kbg;gh;. ,q;F 3 ngz;fs;> 2 Mz;fspd; rkkhd Ntiyia nra;fpd;wdh;?  

  a. 20 days          b. 25 days  c. 18 days           d. 30 days 
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15. If 18 persons can build a wall 140 m long in 42 days, the 
number of days that 30 persons will take to complete a similar wall 100 m 
long is 
18 Ngh; Nrh;e;J 140 kPl;lh; ePsKs;s Rtiu fl;Ltjw;F 42 ehl;fs; MfpwJ. 
30 Ngh; Nrh;e;J 100 kPl;lh; ePsKs;s Rtiu fl;Ltjw;F MFk;  ehl;fs;. 
a. 18   b. 21   c.  24   d.  28 

 
16. If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in how 

many days?  
7 rpye;jpfs;> 7 $Lfis 7 ehl;fspy; nra;jhy; 1 rpye;jp 1 $l;bid 
vj;jid ehl;fspy; nra;Ak;? 
a. 1   b. 7/2  c. 7   d. 49 

 
17. If the wages of 5 men for 14 days be Rs.50, what would be the wages of 7 

men for 20 days? 
5 NgUf;F 14 ehl;fSf;fhd $yp &.50 vdpy;> 7 NgUf;F 20 ehl;fSf;F 
vt;tsT $yp fpilf;Fk;?  
a. Rs.150             b. Rs.100            c. Rs.110             d. Rs.200 

 
18. Ram can do a work in 15 day. Rahim is 50% more efficient than Ram. The 

number of days, Rahim will take to do the same piece of work is 
 uhk; vd;gth; xU Ntiyia 15 ehl;fspy; Kbf;fpwhh;. u`Pk; vd;gth; uhk;-I 
 tpl 50% tpiuthf Kbg;ghh; vdpy;> u`Pk; kl;Lk; jdpahf mNj 
 Ntiyia vj;jid ehl;fspy; Kbg;ghh;? 
 a. 7½     b. 10   c. 12    d. 14 

 

19. A and B can do a job together in 7 days. A is 1 3

4
 times as efficient as B. The 

same job can be done by A alone in : 
 A kw;Wk; B Mfpath;fs; Nrh;e;J xU Ntiyia 7 ehl;fspy; 

 Kbf;fpd;wdh;.  A vd;gth; B I tpl 
3

1
4
 klq;F tpiuthf Kbg;ghh; vdpy; 

 mNj Ntiyia A  jdpahf vj;jid ehl;fspy; Kbg;ghh;?  

 a. 9 1

3
 days  b. 11 days  c. 12 1

4
 days  d. 1

16
3

 days
 

 

20. A can do a certain job in 12 days. B is 60% more efficient than A. How 
many days does B alone take to do the same job? 
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 A kl;Lk; xU Ntiyia 12 ehl;fspy; Kbg;ghh;. B vd;gth; A iaf; 
 fhl;bYk; 60% mjpf jpwDld; Ntiy nra;gth; vdpy; B kl;Lk; 
 mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;? 
 a. 6 days   b. 7½ days   c. 8 days   d. 8 ½ days  
 
 
 
 

TIME & WORK ASSIGNMENT 

Answer Key  

 
 
 

1 2 3 4 5 6 7 8 9 10 

B B C C D B C A A C 

11 12 13 14 15 16 17 18 19 20 

B C D D A C B B B B 

 


